oo = == == ==[1[]

D0000000011200000000000000000
0oO@oooon)

goo:

000 : 2023/8/24 15:57:36

oood

0000000000112020200000 0012001335100 0

00000dooooooooog

(OHoooo

J00000d0000o0ooU0ooooooooogoo
00o0odooooleoo070@oo)yooooooooooooo@oo)yoooooooooa(
ooo)yoooo(.pdfdO)ooooog
Ghttps://sites.google.com/psjh.tyc.edu.tw/inventor/home
do0o0ooooOoobOo@oo~o0nD)y e ODOODDO9D2r O0DOOO0DODODODDOODOO
gddoodooboodoouoobooooouoonooon

(0Hoooo

goddooooooooood

0000000 :1120100240 00 0000000000000 00O0 ODO0OOoOoOo@oOOo)ooo
ooo@oo)oooo(pdfo0)oonoooo
Ghttps://sites.google.com/psjh.tyc.edu.tw/inventor/home
D000d00001120100240(000)011201002850(0 000080 000400000000
00000000 00o0D00o0oOoooooDlzo00e0(0 00D OO0 OOOOOOOO
O

(0HOODDODODOOOoOODOO0U00o00oO00oo0o0oo00oo0oO0ooOood Od(03)49182390 210
0 2400

J000d00ooooooooooogon

http://163.30.202.2 2024/5/20 20:33:10 - 1


Ghttps://sites.google.com/psjh.tyc.edu.tw/inventor/home
Ghttps://sites.google.com/psjh.tyc.edu.tw/inventor/home
http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

